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—Esggd 100,000 x1H x12& 1,200
- 3RAHMEY 60,0003 x1&H «128 720
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Oz®eg 2 Ed3
27,841,264,620& *11.87% 3,304,759
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307 gl2tol & 282,700 249,337 33,363
07 A32XN=3 282,700 249,337 33,363
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OM=Ex3 20,000
OJIEIN Ex4+g 2943
27,840,264 ,620& *3.820%*20% 212,700
9 HMES 95,000 200,000 A 105,000
02 SRS HILYEEZ 95,000 200,000 A 105,000
O3RAXEH mNUHHEES 22 95,000
AMaI=RE2H 132,500 112,500 20,000
= 92,750
s 39,750
101 14 dl 102,785 86,930 15,855
= 71,950
s 30,835
01 2= 102,785 86,930 15,855
OAMsl=Rerd S 102,785
= 71,950
i 30,835
204 HR=HAH| 8,160 6,975 1,185
= 5,711
[ia 2,449
02 A2l 5,528 4,725 803
OAMalEXesE Ags x| 5,528
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